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EHm1=120kg

THARE (TBEHHHBH) m2=15kg

772 L=200 mm

BRIETHEEKRT<6s

RIRLFTATRER D=25mm

RERZATSH2 Ph=25mm

R LA BKE Lb=450mm

RERAATHMNER n=0.9 CBEIZAT n=0.3~0.6)
ZUSHESEREERH =01 (BRRHBEINERE)

© BHRBEVERITHE:

(N

3.

HEITE
%

R AN 32K E a=0.05m/s”,

PURER AT 8] t1 R 12 379 s,

SRIZfTIRE V=50mm/s

W 2241 & S ¥ 3E n=V+Ph
=50+25=2rps=120 rpm;

TURR BIE{TEEE L=2x1/12xaxt1’

O MMEETREE

EYm1

TEGm2

RIRLATE

0]
:H 77777} I777) P77

=2x1/2x0.05x 1% =0.05 m=50 mm;
I fTEEE 7 200-50=150 mm, AFjE)H 150+-50=3s;

N A FESLFRIZITH B A 3+2x 1=55<6 s,
W TREEX.

BIREZR S F1. BREBMEN F2

F1=pux (m1+m2) xg=10.1x(120+15) x9.8 =132.3N

41 SHRA R E R ) F2
B0 EABRIS 2N, SBRME: 41
F2=4x2=8N

FH B R R 12 ) 7= AR Y EE 4R 2B M1

_ (132.3+8)x0.025

FPh__ (F1+F2)Ph

M1 = 2mn 2mn

2x3.14x0.9

FRR TR ZZ AL B TR J1 B SIS 7R 7= A Y R 4 9 2B M2

M2=1N-m (Fifd, HFRERLFTEN)

i i

LM SRR IBHR

=0.621N-m



5. RIREJ
ZATIRE I
J1= 0 xp'xLb- wx (25%10°7) x 450 x 10°=1.36 x 10* kg - m’

KB EB 7 157 8 J2

;: )= (120 + 15) x(

25x10°
2m

J2= (m1+m2) x( ) =21.4x10" kg - m’

EXHERIRE J3
J3=0.04x10%g - m* (F1h)

BIRE

J=J1+J2+J3 = (1.36+21.4+0.04 ) x 10" =22.8 x 10“ kg - m’

6. NI A E IR 8 A A SR AL AR M3

e a = 21X1200 _ 45 56 radys?
60 x 1

M3=Jxa=228x10"x12.56 =0.029N - m

. BRABEEM
M=(M1+M2+M3)x S=(0.621+1+0.029) x 1.75=2.88N - m
(SHZEEH, —#%1.5~2, B1.75)

8. DAM=288N-m, n=120rpm & «L&4& BHFI[2]y P32,
BE=48 220 V FROFEERAL60 W, SEIEEET : 10
BiEEHE 33N - m>2.88N - m,
&£ n=130 rpm > 120 rpm,
TR sfies, &EH «ZE&BR[2]D P68, #-S A025
REFEFMEE, REEVEE, RATMBES,
Sl «ZEBZRE2]D P30T

90YS60GY22+90GF10H A025%F 47188
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